O60E943 — —_ A -
1:2,500HEX :E/I'Igt/\ﬁTyg)l/ﬂﬂ

-148.5 |

%’@?ﬁz? —Z H ] EL Tl TR e S—— N | ‘ OE932|0E941|0E942
”nnnn— ) g ( 7 - ! 0 ~<3

OE934|0EQ43|0EQ44

PEO32|PEO41|PEO4?2

L L L e
S e
R nnnna

= —_
20 =]
(1] ween | a372 = & &
B12.04 K ¥ A
— ] E5°=Y o148 2 BmE
$25.6  BUCECEL
1 mamEs g =
””””” . 18.7 fb’%%iﬂ‘ift
. IC&2iEER
_____ oo mera L1i58 mrmes
""""" . e T =
H e it P
H = i 4] B F9
+ TR R - B2 B
X = B oA = 7
P = B & E g &
X = = o 2, ]
v Hom o= o SHEE » 7R3
® BB - g s >
-149.0 po T 15 L = ]
e = B A L £ 2 ®
© B = 2 vl &
x Ko E 0% B
~ 12 Hokis ¢ e = #
'e) REEFRU |1 JE 72
H B3 i L
o] g N = 3] KA R 8 P
VAN B ¥ A O ER
N ‘' OB 7 @ K 8
<% G & ) 1=
K SME B 2 B = M
@ 123 |"° kot
m 2 AR— L4 ™ 8 0
8 0w & < % & 0
© B 2R EN dly BR - IR
(NO—2—7)
® & & & A CRER=E
® BEE S B AsER R
9 8 ra) 24
® g & N B
) VAT
® B = 3 I ¢
=088 8 = E % oE
o % & )
——————— s i e B BB E
——————— ® 5 B = F
] ISyRR—L4
T — _ BEERPOEs RUERB
1
_____ BHHEE —_—— BEOTEE
= wpmmns HEDSES
it * o B A
I Ta- s ———— * B
£ B A O
fffff X # 5
AT#®E W ox =
+ 12 S

BIAT - SEEERT
DRER

—_— B m R ——— A7-H-TER
<) VARV
55 REE BE
-149.5 . |REE T B
~ ‘ ° Zofm | |
o 8 o |HAKm o R
& IS e . N2
Z o Vo]t
o | &UH y
o JAFY o NI PN
B e B S N B
|
Y = am| N it E| o | PLE
L|FE Mmoo (8
A
°T

“ X 1 ol oml L E o
o N

R AFEESBE SR BNSOREICSD
P VL R (SRR C D

BRAIEX L) LA

K0 L CHDEARETFOA—)LEAL
SIRIFO. 5FOX—R/LER

B OEEITRRBDFEE
ESFOERId 2 A —H)L

O60E943

¥ 20F A £ 1. P2 9FE1 28 i 1:2.500

- &L [CORENRE. EXEREOERRZE EREDERRE = E — B FI_T N AN AN
X £ N2 <[ O — ‘l{‘
¥ g 24 i j; LE 2. FA30%E OR RitHE o 50 100 200 300 400 500m FRLIBLZELOTHD, (FRES) F29FNEI3B93] . I—l*&@ _Ek mT%'l"\ = $§§%ﬂ =
$ 30 & = L | L 1 1 1 1 1 1 1 1 ]

AT TS LE
FRERE i Repmszmess



